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S 7,870 7,870 0
Al 393,722 88,009 305,713
347,496 112,994 234,502
= 14,392 17,115 N2,723
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347,496 112,994 234,502
= 14,392 17,115 A2,723
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Al 325,234 88,009 237,225
347,496 112,994 234,502
- = 14,392 17,115 N2,723
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Al 325,234 88,009 237,225
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101 @244l = 12,224 14,947 N2,723
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10 JIZHZ22nsSEs 39,753 29,895 9,858
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- Jlz= 34,2403 * 18 * 5 » 22 3,767 0 3,767

- FI==g 34,2403 * 18 + 22 754 0 754

o ESAEe A 10,635 0 10,635

- Jlz= 40,2802 * 29 = 5 * 22 8,862 0 8,862

- FI==g 40,2803 * 29 » 22« 1,773 0 1,773
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Al 50,092 16,720 33,372

01 AtR2t2id] 33,160 12,720 20,440
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o WEE WM M 1,000& * 2,000 » 35 6,000 0 6,000
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O XN2sSAEs 2 2T ME S 4,900 0 4,900

o NESAL I S2 A& 22t & & 3,500,000 3,500 1,400 2,100

o XHESAF AAX] g2t Z& 7,000,000 7,000 4,200 2,800

O NHESAA s =9 M= 100,000& * 88 800 0 800

O 28+ 7,340 0 7,340

o XHESALA 2IHA s ZAE 100,000& * 1% = 13 100 0 100

o NASAX =00 (Z,5,Y) 2A=E 100,000 * 3MH=01 » 18] 45 « 53 6,000 0 6,000

o MEXNIASAE FIESZA 100,000& * 2H * 53] 1,000 0 1,000

o M2UK(CIHA E=)2ALSHI 60,0002 * 1% « 43 240 0 240

02 Z232<H 15,100 0 15,100
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Z& 31,550,000& - JI& 35,610,000
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185,000
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44,050
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101 2l24d| 29,225 0 29,225
08 JIEtAE= 29,225 0 29,225
O KHASAMAEAIS SXIAHHI SR -F0IMET 2 DHAH L2012 60 =)
29,225,000& » 14] 29,225 0 29,225
203 HR=&H| 1,500 0 1,500
04 REN2ILRFLL 1,500 0 1,500
O SAXIHEA 7H) 250,000& » 62 1,500 0 1,500
Jl22&Hl 30,000 0 30,000
Jl=3| 30,000 0 30,000
201 et 3| 21,400 0 21,400
01 AtR2t2id] 17,200 0 17,200
O bt=Z2H| SHA & 9,340,000& * 14 9,340 0 9,340
O Sl SN & 4,500,000& * 14 4,500 0 4,500
O 2d=Y SN L 3,360,000& * 14 3,360 0 3,360
02 =322l 4,200 0 4,200
O 2232z ¥ HA SEAH L 1,200,000& » 14] 1,200 0 1,200
O AEEHIRXEl SHAH & 3,000,000& * 14 3,000 0 3,000
202 O4H| 8,600 0 8,600
01 =LHAYI 8,600 0 8,600
O 22U SHAHA 8,600,000& * 14 8,600 0 8,600
HRES (S ALK 1) 7,763 0 7,763
RSN 7,763 0 7,763
RSN 7,763 0 7,763
802 BrEt=2D|Et 7,763 0 7,763
01 INEBLILEZ 7,002 0 7,002
O NIASAMICIUOIEER0IXIAAIE ArS &N 7,002,000 * 14 7,002 0 7,002
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